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1)  0,5 ∙ 9,6 ∙ 2 =
2) 5,1 ∙ 0,25 ∙ 4 =
3) 1,5 ∙ 1,2 ∙ 2 =
4) 8 ∙ 7,39 ∙ 0,125 =

  5,1 3,9 3,6 9,6 73,9 39 7,39

Ю Р Е Д К Ж В

Д Ю Ж Е В





Проверим:
26х + 4,2 = 12
26х = 12 - 4,2
26х =7,8
х = 7,8 : 26
х = 0,3

9х = 3,4 - 1,6
9х = 1,8
х = 1,8 : 9
х = 0,2

9,1- х = 2,9 + 2,8
9,1- х = 5,7
х = 9,1 - 5,7 
х = 3,4

х + 2,1 = 15,2 : 4
х + 2,1 = 3,8
х = 3,8 – 2,1;
х = 1,7

х : 1,1 = 0,9-0,6
х : 1,1 = 0,3
х = 0,3 ∙ 1,1
х = 0,33

х - 0,5 = 2,3 ∙  0,8
х - 0,5  = 1,84
х = 1,84 + 0,5
х = 2,34



1,7 0,2 0,3 3,4 2,34 0,33

К А Т Ю Ш А



             Вариант 1
1)Выполните сложение:
         395,486 + 4,58
               Ответы:
А) 853,486;  Т) 400,066;  Н) 395,9542
 2)Выполните  умножение:
              2,87 ∙ 5,6
              Ответы:
А) 16,072;  К) 15,172;  Т) 150,72
3) Найдите значение частного:
             1,598 : 4,7
               Ответы:
К) 34;   Н) 0,34;    А) 0,034
4)Найти значение выражения:
         4,36 : (3,15 + 2,3)
       Ответы:
А) 8;    Т) 1,8;    К) 0,8

                  Вариант 2
1) Выполните сложение:
              7,6 + 908,67
                  Ответы:
Т) 916,27;  Н) 1668,67;  А) 909,43
2) Выполните умножение:
              0,85 ∙ 4,07
                Ответы:
К) 345,95; А) 3,4595 ; Т) 3,4605
3) Найдите значение частного:
                39,156 : 7,8
                   Ответы:
А) 5,2;    К) 0,52;    Н) 5,02
4) Найти значение выражения:
            6,9 : (0,028 + 1,512)
                  Ответы:
А) 0,45;    Т) 45;      К) 4,5



Ключ к 
тесту.

Номер 
задания

1 2 3 4

1 
вариант

Т А Н К

2 
вариант
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1)   7,6 + 13,181 = 
2)   5,025 ∙ 3,4 =
3)   2,17 ∙ 0,8 =
4)   0,182: 1,3 =

1,736 0,46 2,11 20,781 33,74 8,22 2,6 0,14 27 17,085

М П О К Б Е Д Ц А Б

0,46 2,11 33,74 8,22 2,6 27
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